A B C
1 1 2
0.002 0.002 0.004
0.02 0.02 0.06
0.01 0.01 0.05
0.009 0.009 0.03
0.005 0.005 0.02
0.05 0.05 0.1
0.05 0.05 0.1
0.009 0.009 0.03
0.02 0.02 0.07
0.009 0.009 0.02
0.003 0.003 0.006
0.9 0.9 4
3 3 7




1 1 3
10 10 30
0.4 0.4 0.8

1 1 2
0.03 0.07 0.07

0.001 0.002 0.002
0.0009 | 0.002 0.002
0.001 0.004 0.004




g=0.108x He* Cm

Nms3/h
He m
Cm ppm

He=H, +0.65(H, + H,)

b _0795)Q Vv

" 14258V

H,=2.01x10° Q (T -288)(2.30logJ +1/J -1)

1

JQ v

J =

1460 -296x Y |41
T _288

15 m3/s
m/s

- <O I



Clm
CIm - k X Cm
Cim mg/e
mg/e
Cm ppm
0.002 mg/
0,002 mg/e
Clm
k
m3/s Mo/t
A B C
0.001 16 0.03 0.03 006
0.001 0.1
3.4 0.007 0.007 0.01
0.1 0.71 0.002 0.002 0.003
0.001 5.6 0.1 0.1 0.3
0.001 0.1
1.2 0.02 0.02 0.07
0.1 0.26 0.005 0.005 0.02
0.001 32 0.3 0.3 2
0.001 0.1
6.9 0.07 0.07 0.3
0.1 1.4 0.01 0.01 0.07




0.001 63 0.6 0.6 2
0.001 0.1
14 0.1 0.1 0.4
0.1 2.9 0.03 0.03 0.09




